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AP Macroeconomics - Final Practice Test
1. In deciding whether to study for an economics quiz or go to a movie, one is confronted by the idea(s) of: 
A. scarcity and opportunity costs.

B. money and real capital.
C. complementary economic goals.

D. full production.

 

2. Ben says that "An increase in the tax on beer will raise its price." Holly argues that "Taxes should be increased on beer because college students drink too much." We can conclude that: 
A. Ben's statement is normative, but Holly's is positive.


B. Holly's statement is normative, but Ben's is positive.
C. Both statements are normative.
D. Both statements are positive.

 

3. The four factors of production are: 
A. land, labor, capital, and money



B. land, labor, capital, and entrepreneurial ability
C. labor, capital, technology, and entrepreneurial ability
D. labor, capital, entrepreneurial ability, and money
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4. Refer to the above tables. Opportunity costs of producing military goods are: 
A. increasing in Duckistan but constant in Herbania.

B. constant in both Duckistan and Herbania.
C. larger in Duckistan than in Herbania.


D. smaller in Duckistan than Herbania.
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5. Refer to the above diagram. Starting at point A, the opportunity cost of producing each successive unit of tractors is: 
A. a constant 2 units of bread.



B. 2, 4, 6, and 8 units of bread.
C. 8, 6, 4, and 2 units of bread.


D. the reciprocal of the output of tractors.

 

6. A fundamental difference between the command system and the market system is that, in command systems: 
A. the division of output is decided by central planning rather than by individuals operating freely through markets.
B. all economic decisions are made by the government, whereas there is no government in a market system.
C. scarcity does not exist, as it does in a market system.
D. money is not used, whereas it is in a market system.

 

7. Which of the following is not one of the five fundamental questions? 
A. What prices will be charged for goods and services?
B. Who will get the goods and services?
C. What goods and services will be produced?

D. How will the system promote progress?
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8. Refer to the above diagram. Arrows (1) and (2) represent: 
A. goods and resources respectively.


B. money incomes and output respectively.
C. output and money incomes respectively.

D. resources and goods respectively.

 

9. Refer to the above diagram. Arrows (3) and (4) represent: 
A. goods and services respectively.


B. incomes and consumer expenditures respectively.
C. resources and goods respectively.


D. consumer expenditures and income respectively.

 

10. Refer to the above diagram. Arrows (1) and (3) are associated with: 
A. the money market.

B. the resource market.
C. the product market.

D. international trade.

 

 Answer the next question(s) on the basis of the following data. All figures are in billions of dollars:
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11. Refer to the above data. GDP is: 
A. $116.

B. $121.

C. $125.

D. $150.

 
 Use the following table for a hypothetical single-product economy.
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12. Refer to the above data. Real GDP in year 4 is: 
A. $320.
B. $450.
C. $200.
D. $800.

 

13. Suppose nominal GDP in 2006 was $100 billion and in 2007 it was $260 billion. The general price index in 2006 was 100 and in 2007 it was 180. Between 2006 and 2007 the real GDP rose by approximately: 
A. 160 percent.
B. 44 percent.

C. 37 percent.

D. 12 percent.

 

14. The consumer price index was 177.1 in 2001 and 179.9 in 2002. Therefore, the rate of inflation in 2002 was about: 
A. 6.7 percent.

B. 3.4 percent.

C. 1.6 percent.

D. 4.1 percent.

 

15. Suppose that a person's nominal income rises from $10,000 to $12,000 and the consumer price index rises from 100 to 105. The person's real income will: 
A. fall by about 20 percent.
B. fall by about 2 percent.
C. rise by about 15 percent.
D. rise by about 25 percent.

 

 Answer the next question(s) on the basis of the following information about the hypothetical economy of Scoob. All figures are in millions.
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16. Refer to the above information. If the natural rate of unemployment in Scoob is 5 percent, then: 
A. structural unemployment is about 3 percent.
B. frictional unemployment is about 2 percent.
C. cyclical unemployment is about 2 percent.
D. hidden unemployment is about 5 percent.

 

17. In which phase of the business cycle will the economy most likely experience rising real output and falling unemployment rates? 
A. expansion

B. recession

C. peak

D. trough

18. Graphically, demand-pull inflation is shown as a: 
A. rightward shift of the AD curve along an upsloping AS curve.
B. leftward shift of the AS curve along a downsloping AD curve.
C. leftward shift of AS curve along an upsloping AD curve.
D. rightward shift of the AD curve along a downsloping AS curve.

 

19. Graphically, cost-push inflation is shown as a: 
A. leftward shift of the AD curve.

B. rightward shift of the AS curve.
C. leftward shift of AS curve.


D. rightward shift of the AD curve.
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20. Refer to the above diagrams, in which AD1 and AS1 are the "before" curves and AD2 and AS2 are the "after" curves. A recession is depicted by: 
A. panel (A) only.
B. panel (B) only.
C. panel (C) only.
D. panels (A) and (B).

 

21. Refer to the above diagrams, in which AD1 and AS1 are the "before" curves and AD2 and AS2 are the "after" curves. Other things equal, a decrease in resource prices is depicted by: 
A. panel (A) only.
B. panel (B) only.
C. panel (C) only.
D. panels (B) and (C).

 

22. Refer to the above diagrams, in which AD1 and AS1 are the "before" curves and AD2 and AS2 are the "after" curves. Other things equal, a decline in net exports caused by a change in incomes abroad is depicted by: 
A. panel (A) only.
B. panel (B) only.
C. panel (C) only.
D. panels (B) and (C).

 

 Use the following balance sheet for the ABC National Bank in answering the next question(s). Assume the required reserve ratio is 20 percent.
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23. Refer to the above data. This bank can safely expand its loans by a maximum of: 
A. $7,000.

B. $25,000.

C. $12,000.

D. $5,000.

 

24. Refer to the above data. If the original balance sheet was for the commercial banking system, rather than a single bank, loans and checkable deposits could have been expanded by a maximum of: 
A. $8,000.

B. $15,000.

C. $48,000.

D. $25,000.

 25. If the MPC is .70 and investment increases by $3 billion, the equilibrium GDP will: 
A. increase by $10 billion.

B. increase by $2.10 billion.
C. decrease by $4.29 billion.

D. increase by $4.29 billion.

 

26. The XYZ Corporation can make a real (inflation-adjusted) return on an investment of 9 percent. The nominal rate of interest is 13 percent and the rate of inflation is 7 percent. We can conclude that the: 
A. investment will be profitable.

B. investment will be unprofitable.
C. real rate of interest is 4 percent.

D. real rate of interest is 2 percent.
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27. Which of the following would shift the investment demand curve from ID1 to ID2? 
A. a lower interest rate

B. lower expected rates of return on investment
C. a higher interest rate

D. higher expected rates of return on investment
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28. Refer to the above diagram. Suppose that the demand for loanable funds is D0 and the supply of loanable funds initially is S0. If the supply of loanable funds declines to S1, the equilibrium interest rate will: 
A. decline from G to F.
B. increase from E to F.
C. decline from F to E.            D. increase from F to G.

 
29. If the economy were encountering a severe recession, proper monetary and fiscal policies would call for: 
A. selling government securities, raising the reserve ratio, lowering the discount rate, increasing reserves available through the term auction facility, and a budgetary surplus.
B. buying government securities, reducing the reserve ratio, reducing the discount rate, increasing reserves available through the term auction facility, and a budgetary deficit.
C. buying government securities, raising the reserve ratio, raising the discount rate, reducing reserves available through the term auction facility, and a budgetary surplus.
D. buying government securities, reducing the reserve ratio, raising the discount rate, reducing reserves available through the term auction facility, and a budgetary deficit.
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30. Refer to the above diagrams. The numbers in parentheses after the AD1, AD2, and AD3 labels indicate the levels of investment spending associated with each curve. All figures are in billions. If the money supply is MS1and the goal of the monetary authorities is full-employment output Qf, they should: 
A. increase the money supply from $80 to $100.
B. increase the money supply from $80 to $120.
C. maintain the money supply at $80.


D. decrease the money supply from $80 to $60.
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31. Refer to the above diagram, in which Qf is the full-employment output. If the economy's current aggregate demand curve is AD0, it would be appropriate for the government to: 
A. reduce government expenditures and taxes by equal-size amounts.
B. reduce government expenditures or increase taxes.
C. increase government expenditures or reduce taxes.
D. reduce unemployment compensation benefits.

